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Bpe = 2G[r cos(a /2)]BO(Qa12)v+1,v
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La/lpa = G[30(1 + 2r)*+ 7(1 - r)/[14Gy,(1 - r)’] = 0.475 + 2.063(1 + 2r)*/(1 - r)?
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b HCX 2
HCX T
a'l
r+ (1-r) cos’t
Bccc = :£'Q/m [T Cost ] B 0 (Qalz)vﬂ,v
0.5
2r + (@A -r)sin’t ) ©9
Baac = Bbbc = 3Gsym[T COST] BO(Qal )v+1,v
_ 1+ 2cost +i_ me +m, (1 + 2cost) _i+£i
o me m, Mmemy m, 3m
(stmz)vﬂ,v = [< V+1| me |V >]2
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3 1
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Bcaa = Bcbb = Baca = Bbcb = _£deg[79n T COST] BO(Qdeg )v+l,v
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Baaa = bba — _Babb = _Bbab = EGdeg[TsmgT] BO(Qdegz)vﬂ,v
G =1—COST +i: me + my (1 —cost) =i+£i
“me omy Mem,, m, 3m
(Qdegz)vﬂ,v E[< \Y +l| Qdeg |V >]2 = ZHC(*)deg (V +1)(V + 2)
Queg vy E[<V-1]Qyy IV >]2= V(v +1)
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Raman
lgm/loeg = Gyml15(1 + 2r)* + (21/4)(1 - r)*(1 - 3c051)]/[(63/2)Gyeg(L - 1)’sin“T(1 + 30057T)]
=0.119+0.762(1 + 2r)°/(L - r)’

v=1-0) Nvib = BO(Qvibz)l,O

CH -

1)



Ngm = BO(stmz)l,O

Neeg = BO(Qdegz)l,O = 204/ Wyeg = 1.95 Ny,
Naz = Bo(Qu)10 = 2Wem/Wy = 1.01 Ny,
Mo = Bo(Qun)ro = 20/ Wy = 0.98 Ny
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Baze Bazc™
Baa: = Baa:* Baa: =-1.80 Baa:*
Bca: =0.25 Baac* Bcu: =-0.90 Baac*
Bam: 1.49 Baac* Baaa: -1.84 Baac*
Bcaaz -1.05 Baac* Bcea: -1.84 Baac*
=CH, =CH CH, Baac Baa:+
CH, CH C= c a
=CH, =CH

Baa: = Baa:+ Baac =-0.51 Baac+
Bca: =0.33 Baach Bacc = Bca: = BC(B: -0.30 Baac+
Baaa = Bcaa =1.04 BazacJr Bccc =-0.17 BazacJr

Baaa: -0.89 Baa:+

Baua: Bcaa: -0.51 Baac+

1 SFG
CH (d/dr)oAr = peddr
(da/dr)Ar = aAr r CH
2c (mass adjusted)
HCH HCC CcC CcO
— potentid energy distribution = PES —
CH CH,
CH, CH CH
Y[(dQ/dt)” + AQ]
1
Qen = Argy (1.2)
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Gy 2
Gen = (M + my/memy, = UVmy + 1/my

<
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2V = K(&r)’= KGg Qe

Fen =K Acti = FerGen [v (cm™) = V(A)/2re]
CH, 2 CH Ar, A,
Qun

_An+Ar, 1

a1 N G
Q= Ar —Ar, 1

b1 N G ~

Ga Gy HCH a

Gy = [me+ my(1 + cosa)]/mem, = 1/my, + (1 + cosa)/m
Gy = [me + my(1 - cosa)] fmemy, = 1/my, + (1 - cosa)/me

Ty cosa =-1/3

<

2V = K[(Ar,)’+ (Ar,)°] + 2K'Ar,Ar,= (K + K' + 4F/3)G,,Q, *+ (K - K' - 0.2F/3)G,,Q,,°

F Shimanouti field H---Hrepulson term
=-0.1F Td
A= (K + K' + 4F/3)G,
M= (K - K' - 0.2F/3)G,,

CH, 3 CH Ary Ar, Arg
Qdeg,a Qdeg,b ac Hl
Q _An+An+A 1
sym \/é Gsym

_20n —Ar, -Ar, 1

Qdeg,a - \/6 J@

Ar,-Arg, 1

Qiegp = T m

Gym = [Mc+ my(L + 20c0s1)]/memy, = 1/my, + (1 + 200st)/my
Gaeg = [Mc + My(1 - cost)]/mem, = Umy + (1 - cost)/me

T HCH Ty cost =-1/3
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2V = K[(Ar,)’+ (Ar,)°+ (Ary)’] + 2K'[Ar,Ar, + ArArs+ Ar,Arg]
= (K + 2K' + 2.03F)GyQym + (K - K' - 0.07F)GegQueq

Agm= (K + 2K' + 2.03F)Gym  Aueg= (K - K' - 0.07F)Gye,

CH, CH, CH
CH
CH
[/ (4rfow)] V2 Q
Hyip = (AMon/dr)o(Ar) = (due/dr), +/Gan Qcn
CH, Ar,  Ar,

[ Arsin(@/2), 0, Arjcos(a/2)] [-Ar,sin(a/2), 0, Ar,cos(a/2)]

Qu Qu C a

C

Hup = (dMcn/dr)o(Ary + Ary)
= (dpc/dr)o[e(Ary - Arp)sin(a/2) + e(Ar, + Ar,)cos(a/2)]
= (duc/dr)l \2G,, c0S(a/2)Qu + 26, SIN(A/2)Qu]

OM/0Qy = (dHe/dr) oG, cos(a/2)

OH/0Qy, = (dpe/dr), \/ZG_bl sin(a/2)

[cos(a/2) = /3, sin(a/2) = 273 for methylene] and
[cos(a/2) = -1/2, sin(a/2) = /3 /2 for vinyl CH,)]

CH,

Huib = (AMon/dr)o(Ary + Arp+ Arg)

= (ducy/dr)[e(2Ar, - Ar, - Arg)sint + g,(Ar, - Arg)sint + e,(Ar, + Ar, + Arg)cost]

= (dUCH/dr)O ’3Gsym COSTQ&ym + 6Gedeg /ZSinT[Qdeg,a + Qdeg,b]}
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OW/0Qym = (ducr/dr), 3G, ST

OM/0Queg = (AHc/dr)o [BG e, /2 SINT (1.14)
(cost =-1/3, sint =,/8 /3)
CH (c )
CH C H 4
3 n (da/dr),Ar = apAr
(dog /dr)Ar = apAr
(dog/dr)oAr = (day,/dr)Ar = ragAr (1.15)
CH €&n. Q)
(a,b, 0
(1) (Ea! Ebv Ec)
(E. E E) 2 (Pe, P, Pp) (3)
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aaa
1
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P = (da,/dr)oArE, = aEAr = a[G,, QovEe

- - - &.
Pa_ (daxx/dr)OArEa_ raOEaAr =ra, /G Q HEa
) ) ~ VACIeTINE ZAK/H @
Py = (day/dr)ArE, = ragEAr = rag G, Qv 2

8= (dai,/dr),

1.1 Qav= (U \/GCH )Ar () *— ~ C
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Oec= aO-"GCH QCH
o= Olpp = rao\/GCH Qcn

(1.16)
CH, CH HCH & n 2 CH
HCH a C H, c HCH
a
E. B E CH 3 n ¢

CH(1)

1.17)

E:(1) = E,cos0/2 + E.sina/2
E) = &

E/(1) = -E;sina/2 + E.cosa/2
E(2) = Ejoos0/2 - E;sina/2

E( =E

E(2) = E;sina/2 + E cosn/2

CH(1) CH(2)

Py(1) = (dag/AoArEx(D) = raAnE(D), Py(1) = (o, /A, (1) = rarE, (1)
Py(1) = (dogg/dr)oAr E (1) = aAriE(1),
P:(2) = (dog/dr)oAr,Ee(2) = raghr,Ey(2), Py(2) = (da,/dr)Ar,E,(2) = raArE,(2),
P;(2) = (dog/dr)Ar,E.(2) = aAr,E.(2)

CH() @&n.Q (@b, 0 n
CH(1) CH(2)
(&b, 0
P,= Ps(1)cosn/2 + Pg(2)cosa/2 - P(1)sina/2 + P,(2)sina/2
Pb: Pr](l) + Pr|(2)
P, = P(1)sina/2 - P¢(2)sina/2 + P,(1)cosa/2 + P,(2) cosa/2
(1.18)
P.= a{[(1 - cosa) + r(1 + cosa)] (Ary+ Ar)/2 x E, — [(1 - r)sina](Ary- Ar,)/2 X E, }
Py = ra,(Ar,+ Ary)E,

P.=a{[(1 + cost) + r(1 - cosa)] (Ar,+ Ar,)/2E, — [(1 - r)sina](Ar,- Ar,)/2 X E, }
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Pa= a,{[(1 - cosa) + r(1 + cosa)] (oG, QuF — [(1 - N)sina] \2G,, QuE }

Py, = ra,V(2G,)QuE,

Pe = a,{[(1 + cosar) + r(1 - cosa)] (oG, QuE. —[(1 - r)sina] \2G,, QuEa } (1.21)
a
Uae= 8[(1 - cosr) + 1(1 + cosa)] G, Qu
Oy, = raV(2G,)Qu
Oee= (1 + cosar) + r(1 - cosa) oG, Qu (1.22)
b,
Uac™ 8 [(1 - r)S| nC(] '\IZGbl le
Uea=—8[(1 - )sina] [2G,; Qu (1.23)
2 CH(2) CH(2) &n, < (abc)
b -a/2 +a/2 b ¢ C
0 b" X (a b, 0 @', b",c)
X, 6, @ (0, -a/2, 0) (0, +a/2, 0) 2 &, n,
£) (@bg) 0,+a/2,0) (0, -a/2,0)
\Y (Vau Vb1 Vc) NEv Vm VZ)
[CH(1)] [CH(2)]
NVEU Deosa/2) 0 sin@ /2,0 MU eosp/2) 0 -sin(/2 Dv,0
0'0 O gp O0'0 0O 0
ovo=g O 1 0 0 OV,0=0 O A (1.243)
A0 Hsn@/2) 0 cos/2) @ 3 Bn@/2 o cos(u/a%zﬁ
NV,0 [os(a/2) O -sin(a /Z)Elavgg v, 0 Ecos(cx/Z) 0 sm(0(/2) EIMD
DVbD=D 0 1 0 0 DVbD=D 0 (1.24b)
%v% @ /2) 0 cos /2y, o %\/@ Hsn@/2 o cos(a /2)%\45
(1.243) (1.24b)
V(1) = UCai2V, V(@) = UGal2)V, (1.259
Vo= UFa2Ve(D), Vo= UCai2)Vy(2) (1.25b)
(1.17) ~ (1.22) 1.17)
Ei1) = UCQ/2E,  E((2) = U+al2)E, (1.26)
(1.18) (dagg/dr)Ary (dotgg/dr)eAr, O
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P(1)

CH,

53(1,2)5 0 000 DJEE(J,Z)E
P:(1,2) = Hpn(l,z)gzgo Oy O %EH(JJ)E = 0:E¢(1,2)
0 .20 O O a, HE (120

CH (a b, 0 (1.19)

P,(1,2) = Ua/2)Py(1,2) = U(*a/2) ogE¢(1,2)
(1.26)

P,(1) = UM a/2)aU(-a/2)E (1)
P,(2) = U(-a/2)aU(+a/2)E,(2)

U(+a/2)a:U(-a/2) U(-a/2)a:U(+a/2) CH(1) CH(2)
(1.249 (1.24b)

a.{1,2) =[(5c0s0 + 7)/12]ag + [(cosa - 1)/12]a,, - [(cosa - 1)/2]ag,
Op(1,2) =[( -cosa + 1)/12]a + [(cosa + 11)/12]a,,

a.{(1,2) = -[(cosa - 1)/3]ag; - [(cosa - 1)/6]a,, + [(cosa + 1)/2]ay,
Oef1) = 0d1) = -0f2) = -0,{2) = (SiNA/2)(0lgg - Olge)

P.(2) CH,
Ar, Ar, (1.15)

0= {[(5cosa + 7)/12]a; + [(cost - 1)/12]a,, - [(cosa - 1)/2]a } [Ar, + Ary)
=ay[r(cosa + 1)/2 - (cost - 1)/2][ Ary + Ar,]

Oy, = {[(-cosar + 1)/12]a; + [(cosa +11)/12] a1, } [Ary + Ary]
= f[Ar, + Ary)

ae.={ -[(cosa - 1)/3]ag - [(cosa - 1)/6]a,, + [(cosa + 1)/2]a } [Ar, + Ary]
=gy[ -r(cosa - 1)/2 + (cosa + 1)/2][ Ar,+ Ary)

Oca= O = (SINQY2)(O; - Oge)[Ary - Ary]
= ay[(1 - r)sina/2][Ar,- Ar,)

1.22)

C, CH(1) 124 CH
CH n 120° c C,
H, a XCH(1) C, H, C

CH -10

@.27)
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H(1) H(2) H(3)

(abe)
T, -213) €n. 0 (@bc)
O, m-1,00 (-2r3, m-1,0) (2173, 11- 71, 0)

(CH(1))
€& n. 0 - (abc)
Ocost 0 simt U
u(@, t+T1, 0):% O 1 o %
E-sinr 0 -coer

(E! n, Z) - (a,b,C)

B-Cosr 0 -sinrH
U™ m+t,0=U(0, m-1,0)=0 0 1 0
Hsinr 0 -coer

(CH(2)
(Ev n, Z) - (ablc)

CH(1) CH(@2) CHE) €n. 0

Jcost O sm%llz 312 oD

U@, m+1, -21/3)=5 0 32 -1/2
H—sint costHE 0

/2cost \/_ 3/2cost SIm
=03/2 -1/2 0

0
0
0
Bl/ZsinT \/I_S/ZSint —coer

& n,Q - (abe)

OD

O, m+1,0) (O, t+1,2173) (0, T+

0.1/2 +f3/2 0ddcost 0 -sintO

U, m+T, -21/3 =U(2n/3 1 -1, 0) = /3 /2
50

H 1/2cost  +f3/2  1/2sim H
B./_/ 2cost  -1/2 \/_/ZSInTEI

0 -COST

(CH(3)
& n,Q ~ (abe)

CH

0

-1

(1.299)
(1.309)
(1.290)
1/2 050 1 0 F
1BHsinr 0 -costH
(1.30b)



0-1/2 3/2 odicost 0 sint
U@, m+t, 2n/3=0+/3/2 -1/2 OH O 1 oE

0 0 1fpsm O -COS[E
(1.29)
Hl/Zcosr J3/2 -1/2sim O
=@/3/2sint  -1/2 -/3/2sim
B—sint 0 -COSt B
€. n, Q) - (abe)
0-1/2 312 OEGCOSI 0 -sintO
UL m+T,2n/3=U(-2n/3 t-1,0)=R/3/2 1/2 0080 1 0 5
B 0 0 1BHsinr 0 -coer
(1.300)

01/2cost  ~f3/2 1/2sim O
= D\/C_%/ZCOST -1/2 -J§/23inr 0
B sint 0 -COST B

a, = U'aU

(CH(D)
Do 008’1 +a, ST 0 (-0 +0g )sinT coer
a()=0 0 . 0 0 (1.318)
—Og +0;)SNT COST 0 Qg SIN°T +0; COS°T B

(CH(2)
0.(2)=
E Qg COS°T + 3, +0y SN'T /3(0g; COS°T =0y, +0 SN°T) 20 —0z )SINT COST H
2 5/3( COS’T —Cy, +0g SN°T)  Ag COS'T +0,, + R SN°T  24/3(0 —0 ) sinT cost [
5 2@ —a,,)sinT cost 2‘/§(°‘az =0, ) SiNT CcoST O SIN*T +0,, COS°T 5
(1.31b)
(CH(3))
a.(3)=
% O COS°T + R, +0y SN°T +f3(0g COS°T —0r,, +0p SN°T)  2(Ag —Cg)sinT cost
2 B/3(0 COS’T — @y, +04 SIN°T) Ay COS'T +0,, + Ry SN°T  24/3(0 —0y ) sinT cost U
g  2( —a,)sinT cost 2\/5(01EE =0, ) SiNT COST O SN*T +0;, COS*T %
(1.31¢0)
CH,

U= (U2)[Ags00ST + 0ty + O SINTI[Ar + Arp+ Arg] + (U/4)(0z00ST - Oy + O SIN“T)[ 241, - Ar - Arg]

CH -12



Op = (L/2)[Age00ST + 01y + g SINT[Ary + Arp+ Arg] - (U4)(0gC0ST - 01y + O SN[ 247, - Ar,- Ar]

0= [0 SINT + 0 COST][Ar, + Ar, + Ar ]

Oy = Opa= (V3/4)(0g00S™T - Oty + Ol SIMT[Ar, - Arg]
Qe = Ogy= (V3/2)(0gg - 0zg)SINTCOST[AT , - Arg]

Oe= Oy = (-1/2) (Otgg - O7r)SINTCOST[2Ar; - Ar, - Arg]

.7

U= (V3/2)[0z00ST + Uy + A STV Gy Qym + (V6/4)(@00ST - Oy + Ay SINT)V G Quega
Oy = (V3/2)[Ag00ST + 01y + 0 SINTIV Gy Qg - (VB/4)(01gz00S™T - Oy + 01 SINTVGgeyQuiega

0o = V3[ 0lgeSINT + 01,00ST]V Gy Qo

Oap = Olpa= (VB/4)(01g£00S™T - Oty + Ol SINTIV G Quieg
Qe = Oy = (V6/2)(0lgg - O77)SINTCOSTYGyeyQuiegs

Oloe= O™ (-V6/2)(0lgg - O177)SINTCOSTVG et Qeiega

CH Ogg = Opp = IOy (dage/dr)o= 2

Ooa = A (V3)[(L - c0s’T) + r(1 + 00ST)] VG Qym + (VE/4)(L - c0ST)(1 - 1)V CiiepQuegal
Oy = 8o{ (V3/2) [(1 - c0sT) + (1 + coST)] VGyyQym - (VE/4)(L - c0ST)(1 - 1)V GiiepQuegat
0o = 8g{ V3[00ST + 1 (1 - COST)] VGy Q)

Olap = Opa= ac{ (V6/4) (1 - COSZT)(:L - r)‘/Gdedeeg,b}

Olpe = Oy = Bf (-V6/2)(1 - r)SinTCOSTVG e, Quieg}

Oae= 0= Ao{ (V6/2) (1 - r)sintcosTVGe,Quega}

SFG
SFG

B = oy
by = (Aot )ochic /),

CH
Bazc = Buooe = rbOGCHQCH2
Bc = bOGCHQCH2

CH,
(1.11) 2 3 Qu c
a (1-35) k c

CH -13

(1.32)

(1.33)

(1.34)

(1.35)

(1.363)
(1.36b)

Qi



a b, (1.35) k

a
B.. = by[(1 - cosa) + r(1 + cosa)] cosa/2x G,,Q,,°
Bbbc = rbocosor/ 2x Ga.’LQal2
Bee: = bol(1 + cos0r) + r(L - c0s01)] 0080/ 2% Gy Qs

b,
Ba(a = Bca = - 0(1 - r)S na/2sina x Gleb12

CH.,
(1.13) 2 3 Qum
Qdeg,b a b

&
Be = Boe = bo(3/2)[ (1 - 00ST) + (1 + COST)] COSIGQym
Bca: = b0(3) [COS2T + r(l - COSZT)] (-\'C)St(;s‘/m(gsym2

e

Baz = “Brba = Bo(3/4)(1 - c0ST)SINT(L - 1) GgegQuega
Bom = Bam = -Do(3/2)(L - 1)SIN"T00STGerQuega
Bapp = Boan = -0o(3/4)(1 - COSZT)Si nt(1 - r)Gdedeeg,b2
Boco = Beon = -0o(3/2)(1 - r)si nzTa)STGdedeeg,b2

CH

q Q

g=(A/h*"Q,  g°= (2w /h)Q*

(stmz)vﬂ,v = [< v+ 1| me |V >]2

h
— 2 = —
_(me )v,\/+1= [<V|Q5ym |V+1>]2 - ATIC0

(v+]

CH - 14

(1.373)
(1.37b)
(1.37¢)

(1.39)

Qdega

(1.393)
(1.390)

(1.409)
(1.40b)
(1.40¢)
(1.40d)

SFG

Olgg Onn

@.2)



Qui Yoy SV 411 Qug [V "= = (D1 +2)
(2.2
Queg vy E[<V-1Qyy |V 32 = (v+Dv
deg
(1.42)
(@) | l=v,v-2,v-4,..10r0,...,-(vV-2),-v Odega Odegh
<V + 1,1 -1 Qgega M 1> = <V, || Quega IV + 1,1 - 1> = (W2W[(v-1+ 2)/2]
<V + L1 -1 Qegp Vo 1> = <V, 1] Quegp IV + 1,1 - 1> = (i/2)V[(v - | +2)/2]
<V A+ L1+ 1] Ouega IV 1> = <V 1] Qega IV + L, 1 + 1> = ((12)V[(v + | +2)/2]
<V + 11 I+ 1| qdeg,b |V1 I>= <V, Il qdeg,b |V + 11 I +1>= (I/Z)\/[(V +1+ 2)/2]
\Y; | v+1 | 2
<v + 1| qdeg,a |V><V| qdega |V +1>=<v+ ll qdeg,b |V><V| qdeg,b |V +1>
=(UA[(v-1+22+ NV +1+2)/2]=(v+ 24
<V - 1| Qdeg,a |V><V| qdeg,a |V -1>=<v- 1| qdeg,b |V><V| qdeg,b |V -1>
= @A[(v-)2+ (v+1)2=v/i4
(2.2 | v+1
2 2 SFG
qdeg,a2 Q(‘Jeg,b2 2
o) | 0.001cm™
| v+1
(1-42)
@) "high-frequency isolation” CH
CH
(20 CH
CH
3 2 CH 1 C CH
1 CH
G D Bc

CH -15



CH,

CH,(

CH

@

Avogadro constant: 6.0220 x 107,

m, = 1.0078 x 10°® kg/mol = 1.673 x 107" kg,
m, = 2.0141 x 10° kg/mol = 3.345x107" kg,
Me = 12.000 x 10°® kg/mol=19.927x10% kg,
Myae = 13.0034 x 10° kg/mol=21.593x10*" kg,

_mg+m (1+2cost) _ 1 N 1
om m.m, “m, 3m,

=6.145(3.157) [6.132, (3.144)] x 10 kg™
_ mc +my(L-cost) 1 4

Gy = mem,, “my ¥ 3m.
= 6.646 (3.659) [6.595, (3.607)] x 10%° kg*
)
G, = m. + m,, (1+ cost) :i+ 2
m.m, m, 3m
= 6.312 (3.324) [6.286, (3.298)] x 10 kg™
G, = m¢ + m, (L —cost) :i+ 4
McMy, my  3mc
= 6.646 (3.659) [6.595, (3.607)] x 10% kg™
)
_m.+m,(1+cosa) 1 . 1
" mem, m,  2m
= 6.228 (3.241) [6.209, (3.221)] x 10*° kg™
G, = me +m, (1 —cosa) =i+ 3

mem, my  2m
= 6.730 (3.743) [6.672, (3.684)] x 10% kg™

_Mmptmy 1001
Fomm,  my om

= 6.479 (3.492) [6.440, (3.453)] x 10 kg™

-1

CH

1/m,=5.977 x 10®° kg™
1/m, = 2.990 x 10* kg™
1/m. = 0.502 x 10 kg™
1/m, = 0.463 x 10* kg™

2.3)

(2.4)

2.5)

(2.6)

-16



CH,
Fom= Koy + 2k + 2F - F/3
Feg = Koy - k+ 2F/3

CH, (alkyl)
Fa= Keat k+ 4F/3
Fbl: KCH_ k+ 2F|/3

CH, (vinyl)
Fo= Keyt k+ 3F/2
Fbl: KCH_ k + F|/2

CH
Fen= Ken
2
3 CH
2926, 2853 cm™ ,-CH, ~2930 ~2850cm™
3040 ~3010 cm™ CH,=  3095~3075cm™  2985~2965cm” =CH

2700 cm™ ( ) CH(aromaic)  ~3030cm*

(md/A = 10° N/m)

Key=3.46(in HCO,) Kg,=4.564 F, ,,=0.032(in CH,CO,)
Urey-Bradley-Shimanouti
R. G. Snyder, J. Chem. Phys 47, 1316 (1967) n-

vdence force field
=2950 cm™ v,=2845cm* v, =2915 cm™
Koy =4.699+0.003 F, , =0.032+ 0.002
CH
Key=4.656 F, ,=0.061 CH, K. =4544 F, ,=0.009
Key=4.6 F, ,=0.03md/A

0.003
CH,

(CHy) Vgm=2839 0™, Vg = 2933 om*
(CHR)ay v,=2871cm?, v, =2933cm®
(CH)yiny: Vy=2853 M7, Vg, = 2952 cm’”
(CH) Vey = 2960 om™

@)
(b)

) CH (du/dras)o CH,CH, CH,

CH -17

-CH<

KCH: 4.2 FH_..H =0.244 (ln ('(:H z'CHZ')n

(3.1)
(3.2)
(3.3)
(3.4)
-CH,  ~2960, 2870
~2890 cm™ -CH=
3300cm™ -CHO 2900 ~

Kew=4.42 Fy ,=0.1(CH,)

k=0 F=-0.1F

Vgm = 2870 CM™ Ve

Koy =4.538+0.003 F, ,=0.019+



<V + 1,1 - 1 Geegalvs 1> (1.10) ~ (1.14) (1.41) (1.42) v=1-0

CH
lon = (V2)Ge ey (3.5
CH,
Ly = G/ w,,005°0/2 = (1/3)Gy/wyy
lpy = G/ W, SiN‘0/2 = (2/3)Gyy/ g
/1y, ~ 0.475 (3.6)
lym = (3/2)Ggm/ 00y COST = (1/6)Gyy/ Wiy
lgog = 2 X (3/4)Gigeg] WiiegSIN'T = (4/3)Giegf Weg
|/ e ~ 0.116 3.7
CH,=CH
L log/l a1 ~ 2G/ 3G,/ Gy ~ 1.0/1.56/0.48
2
4 2
2
a= (1/3)(aaa+ abb+ GC()
V2 = (1/4)[ (Zaaa' be' acc)2 + 3(aaa' abb)z + g(aab+ aba)z + 3(abc + acb)z + 3(lnc:a—'- aat)z] (4 1)
90
loor o= (450°+ 4y7)/45
loerp = Y15 4.2)
458 + 7Y lperp/pera p
P = Lo/ lpara= 3Y/(458° + 4yF) 4.3)

CH -18



3/4

45&2: 5[acc2+ Zacéaaa-'- abb) + (aaa+ abb)Z]
yZ: accz - acc(aaa+ abb) + (1/4)(O(aa+ abb)2+ (3/4)(aaa' qbb)z
458" + Ty = 120, + 30efOlaat Clpp) + (27/4)(Uga+ Q) + (21/4) (Ol )’

p= aocz _acc(aaa+abb)+(aaa2+abb2) —0 0
accz + (Z/SXX cc(aaa +qbb) + (qaa2 +abb2) + (2/3)aaa(x bb

(4.59) (4.5b)

CH
a’ = (U9)ay’ (1 + 2r)°Ge Qe
Y= a"(1 - 1)’GeQo’
o™ = (3145)3,7(4 + 2r + 9r)Ge Qi

1 1
PcH :@5@ 1+ Sr (2+ I")
3(1-r)?

CH,
& mode

a’= (2/9)a, (1 + 2r)’G,Q.,”

V' = (U4)a, (1 - r)’(1 + 30c050)Gy Q.

™" = (U6)3,[60(1 + 2r)°+ 14(1 - 1)’]G1Qy”

01 (1-1)°
Par = Qﬁgsom 2r)° +4@-r)’
b, mode
a=0
V= (34351 - 1)’sinaGy,Q,”
1™ = (1413)8(1 - 1YGy Qi
Po= 3/4
I 0G, 001 151+ 2r)2C
T e, 2t 3(1— r)z) h
CH,
symimetric mode
a’= (U3)a(L + 2rY'GypQym’
¥ = (3/4)a5%(1 - 1)(L - 3005T) Gy Qun’
lym o = 89 [15(1 + 2r)*+ (2U4)(1 - r)*(1 - 3c051)]GymQym

_H3 @-n?
Paym _§45@ 45(1 + 2r)* + 4(1-r1)?

CH -19

(4.4)
(4.59)

(4.5b)

(4.6)

(4.7)

4.8)

4.9)

(4.10)

4.12)

4.12)

(4.13)

(4.14)



degenerae mode
a’=0

V= (94)ay (1 - 1)’sin“T(1 + 300ST)GiegQueq (4.15)
laeg 0 = (63/4)a, (1 - r)’SinT(L + 300S°T)GyegQueg
Pueg = 3/4 (4.16)
| g™ : 2 [HG,, DD15(1+ 2r)? + (21/ 4)(1-r)?(1- 3cos’t)? H 417
lgeg % G DD (1-r)*(L + 3cos’T) sin’t 0 '
r
CH
r(1-61)
r=-1.0 p=0.57 r=-05 p=075 r=00 p=0.33 r=05 p=0.04
r=-09 p=061 r=-04 p=0.73 r=01 p=0.23 r=06 p=0.02
r=-08 p=0.66 r=-03 p=0.66 r=02 p=0.16 r=07 p=0.01
r=-07 p=0.68 r=-02 p=0.57 r=03 p=0.10 r=0.8 p=0.004
r=-06 p=074 r=-01 p=0.38 r=04 p=0.06 r=09 p=0.001
maximuma r = -0.5, grradual decrease convergingtop =0.125(p=0.25a r = -3.0).
minimum (p = 0.00) et r = 1.0, convergingtor =0.125a infiniter (p =0.05& r = 3.0).
HCOON&aq)
p=0.23+0.04
r =0.10 £ 0.05
p~0.3
r =0.05~0.15
CH,
IR |/l = 0.49
r Lo/l Paz r laa/ 1y Pa1 r (™ Pa1
r =-0.40 0.52 0.65 r=-0.05 1.97 0.12 r =0.20 6.71 0.03
r=-0.35 0.58 0.55 r =0.00 2.51 0.09 r=0.225 7.60 0.03
r =-0.30 0.67 0.44 r =0.05 3.21 0.07 r =0.25 8.62 0.02
r=-0.25 0.80 0.34 r =0.10 4.10 0.05 r=0275 9.78 0.02
r =-0.20 0.98 0.26 r=0.125 4.63 0.05 r=0.30 11.1 0.02
r=-0.15 1.23 0.20 r =0.15 5.24 0.04
r =-0.10 1.55 0.15 r=0.175 5.93 0.04

CH -20




(cm™) IR int Ramanint P r from p,,
CH.CI, 2984 ~45 ~41 ~0.1 ~0
3058 ~ 65 ~3 ~0.8
CH,Br, 2987 ~15 ~22 <0.1 ~0.15
3065 ~85 ~4 ~0.8
CH,l, 2967 ~50 ~14 ~0.2 ~-0.15
3048 ~90 ~0.5 ~0.9
CH,BrCI 2987 w ~70 ~0.05 ~0.1
3060 W ~5 ~0.35
CH,CICCN 2987 VS ~24 <0.1 ~0.2
3060 VS ~35 ~0.6
CH,
IR |y laeg = 0.12
r Ig/mlldeg ps/m r Isym/Ideg psym r |s/m/|deg pg/m
r=-050 0.24 0.75 r=-0.15 0.80 0.15 r=015 3.81 0.03
r=-045 0.25 0.71 r=-010 1.05 0.11 r=0.175 4.44 0.02
r=-040 0.27 0.61 r=-0.05 136 0.08 r=020 4.92 0.02
r=-0.35 031 0.48 r =0.00 1.76 0.06 r=0.225 5.58 0.02
r=-0.30 0.38 0.36 r =0.05 2.28 0.05 r=025 6.35 0.02
r=-0.25 0.48 0.27 r=0.10 2.95 0.04 r=0.275 7.22 0.01
r=-0.20 0.62 0.12 r=0125 3.35 0.03 r=030 8.21 0.01
r
r=~0.1~-0.2 SFG
(cm”) IR int Raman int P r fromp,
CH,CH,Br 2866 M =6 <01
2923 S ~21 ~0.1
2961 ~13 ~0.3
2979 S ~11 ~0.3 ~0.2
CH,CHCI, 2870 ~25 P
2932 ~55 < 0.05
2939 ~22
2986 ~75 ~0.16
2990 ~10 ~0.7
3020 P
CH,CHBT, 2840 =05 P
2927 ~9 ~0.05
2970 ~2 dP
3000 ~15 P
CH,F 2863 S
2865 ~ 26 ~0.1
2964 S
2967 ~41 ~0.1
CH,CI 2879 m ~7 ~0.2
2968 ~95 ~0.1
2985 S
3052 ~3.5 ~0.8
CHyl 2046 % Y <01
3042 10 ~2 ~0.9

CH
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3051 S
CH,OH 2835 ~ 80 ~0.05 r~0.1
2944 ~55 ~0.1
CH,COCI 2938 ~0.05
CH,COBr 2932 w ~80 <0.1 r~0.35
3012 W ~55 ~0.75
CH.CN 2046 ~44 <0.05 r~05
3042 ~3 ~0.8
CH,COCd, 2934 ~15 <01
2990 ~3
3025 ~3
CH,
IR lep/)a/lsy = 0.24/0.32/1.0
r lorl I laa/lg lcH Pa1 r lerl I lar/lg IcH Pa1
r=-050 171 0.72 0.75 0.75 r =0.00 2.94 3.07 0.33 0.11
r=-045 1.72 0.73 0.75 0.73 r =0.05 3.35 3.87 0.28 0.09
r=-040 1.74 0.77 0.73 0.67 r=0.10 3.89 4,91 0.23 0.07
r=-035 177 0.84 0.71 0.59 r=0.125 4721 5.52 0.21 0.06
r=-0.30 1.83 0.94 0.67 0.49 r=0.15 4.57 6.22 0.19 0.05
r=-0.25 191 1.10 0.63 0.39 r=0.175 4.99 7.02 0.17 0.05
r=-0.20 2.02 1.31 0.57 0.31 r=0.20 5.46 7.92 0.16 0.04
r=-0.15 217 1.59 0.51 0.24 r=0.225 599 8.95 0.14 0.04
r=-010 2.36 1.96 0.45 0.19 r=0.25 6.60 10.1 0.13 0.03
r=-0.05 261 2.45 0.39 0.14 r=0.275 7.30 11.5 0.11 0.03
r =0.00 2.94 3.07 0.33 0.11 r=0.30 8.10 13.0 0.10 0.02
(cm™) IR int Raman int p r from p,,
H,C=CCl, 3036 ~41 ~37 <01 ~0.1
3130 ~32 ~48
H,C=CHCN 2995 ~35 P
3035 ~19 ~0.1 ~0.15
3070 S ~3 ~0.4 ~-0.15
3115 ~4 dP (asCH)
3210 ~1 P
1
2
2
2 1 Ar
CH - 22




Ar

T = (U2)p[d(Ar)/dt])?
V= (2K (ar)

K= mymy/(my + my)
Krr

(A.1)

T = (V2)[dQ/dt]

V = (U2NQ
A=K, /u

E,=hv(v+1/2), v=0,12...
v(sh) = @2m K, n
q = (4PNh)YQ = (4PN Ju ar

q
<v|qlv-1>=<v-1|q> = [vi]"?

<v=1qv=0>=[12", <v=2/q=1>=[22"

<v| v>=<v|qlv-1><v-1qlv>+<v|qv+ I><v+ 1|gv> = v+ 1/2

(A.1)

mass-adj uged coordinate Q = \/ﬁ Ar

v+ 2 v>=<v+ 2 qlv+ I><v+ 1| qv>=[(v+ 2)(v+ 1)/2)"?

H = et (dU/dAr)eAr = pe+ (dp/da)eg +...
0 = 0yt (do/dAr)Ar = a,+ (do/dg),q +...

He GO

H' = K(Ar)*+ K (Ar)*+ ..

CH
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2.4,2.5

(A.5)

(A.2)

(A.3)

(A.4)

(A.5)

(A.6)
(A.7)



K \ vl v+3 4 K

v v (diagond) v2 vz4
KI’YI’
2
2
@ X
T(X)
T(X) = (U2)s m[(dX/dt)’+ (dY,/dt)’+ (dZ/dt)] (B.1)
m i ( amu)
X, Yi, Z; i
UR)
2 X
1) X0, Yor Zo)
) i XL Y5LZ) (K- X Y- Yo, Zi- Zo)
A (B.1)

T = (U2 M(dX,/dt)*+ (dY,/dt)’+ (dZy/dt)” + Sm[(dX'/dt)’+ (dY;/dt)’+ (dZ;'/dt)]}
M=3m
mX'=3mY'=3mz'=0

@ X" Y Z7)

@

CH - 24



T(X') = (U/2)T m[(dX;'/dt)*+ (dY;'/dt)*+ (dz,'/dt)’]

C: r(ab,c
H (@] b
b 2 H
abinitio DFT
r
r = U(x, 6, X'
X' r
r
Eckart
a b
X'
Eckart
3N -6

r

dX'/dt = wxr + dr/dt

dr/dt - (wxr) = w - (r x dr/dt)

U(x. 6, @)
x 6. 9
N
3N-5
W

u(x)

Eckart

(a b, 0

X 6.9

2T = M(dX Jdt)’+ (dY /dt)’+ (dZ/dt) + 3, m[(da/dt)*+ (db/dt)*+ (dc/dt)]]

+ (Iaa(*)a2+ Ibb(*)b2+ Icc(*)cz) - (Iab(*)a(*)n—'- (Ibc(*)b(*)c + (Ica(*)c(*)a) + 2(Qa(*)a+ Qb(*)b"' chc)

la= ¥m[b°+ 67,

lp = 2imaby, Iy =

Iy = Zim[Q2 + aiz],
lca: Z|mqa1

2mbg,

CH

|cc = Z|m[a|2 + biz]

-25

T(X)

(B.2)

3N



Q, =-Fim[(db/dt) - bi(dc/dt)], Q, =-Y;m[(dc/dt)a;- G(da/dt)], Q. =-3;m[(da/dt)b;- a(dby/dt)]

r° dr
roor=r+dr 0= ymda = y;mdb, = 3;mdc,

XO

0=y mx%y’=ymy’z’ = ymz’°
Eckart
Eckat

0= ¥ m[a"d(dby/dt) - b°d(day/ct)] = ;m b d(dc/dt) -6 d(dby/dt)] = 3im[cd(da/dt) - a°d(dc/dt)]

\/ (m)a1 = zgis(a)st \/ (m)b| = ZJis(b)Qsa \/ (m)ci = zslis(C)Qs
IO+ GO+ (.9 =1,
0= Zilis(a)lls(a) = Zilis(b)lis(b) = Zilis(C)Iis(C)

2 > {dQydty’

Vo
Vo= TM2QS A = (2w’
Q.= [(h2r’/A] g
Os
Hyo? = [(W4m I A0S + (p2r7h)T]
Ps O
D: R
CH HCH
R
7.6
2 X;i-X; - X, angle bending, deformation, ... Qi
3) O
4 dihedra angle between X;-X;-X, and X;-X,-X, planes Tija
2

CH - 26



Tvi b

Tin=T(R)
Usip = ZKiirij2+ 2Kirif

redundancy

360°

(redundant coordinate)

BF;

CH

Uvib

CH,

CH;

-27
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i X 2V = 3%
Xy, %o -, X,

2T = 3,(dQ/dt)’, 2V =3 AQ?

(dQ/dt)* + Q= 0 Q

Eyring & Kimbal, "Quantum Chemistry'
(Wiley & Sons) 2d

X RxRSQ
2T = 3PP GY
2U = 3 XEXEF;

G5, G" FY FR
GF* A
v, = \)Y2re
LR A
(GFFFLR = L°A
LRYYGFERLR = A

vi=) YI2me
|GFFR-EAN|=0

2T = 3, aoml (P )™+ (P )+ (P’ (Um)

CH -28



A/m 0 0 ...... 0O 0 ©O E
g0 1/m 0 ...... 0 0 0
d O
0 0 0 1/m ... 0O 0 O 0
G” =H %
[T 1/my 0 0 [
d O
Qo ooe o e 0 1/my O 0
B.o o 0 0 1/m{
7
Hi [ Um P [ j 1Irij0
r‘12

G(Ar,, Aryp) = Yy +

(1)
GAQy, APyp) = pmzml + pozzmz + Uo(sz + pozz' 2P01P0200S@r)

02 03 0-1
0 1,23
G(A8,SiINQug3, AB,SINGo0e) = HyPon SIN' Qoo + s SINQagy + oo’ SINPug
+ Ho(PorSiNGo0 + PoaSiNGa0 + PoaSiNPcy)”

lo1 loz

G(Ar gy, Argp) = H00SPy0;

lo1 Pro2
G(Ar o1, APyoy) = “HoPorSINGyg,

lo1 ooz
G(AT o1, APonz) = Mol (Usop = Wags)COSPr0p + (Uggs = Wa0p)COSPy |
Uk = Pi/sinQy, Wik = 0,00SQ;/SINQy

(valence force field) UB (Urey-Bradley)
(general forcefield)

CH -29



uB

Urey-Bradl ey-Shimanouti field 144

(brute force field)

GF
4 CH, C,,
CH CH (CH(1) )
(CH2) CH@E) )
G
(CH() CHQHE) )
(C H (2) H (3) ) Qs/m Qdeg a
SFG
CH,
Quegp CHQHE)
Qg/m Qdeg,a IRAS
1 0 0 [ap,D
S=D VT2 VITZ St
0 JiTZ -T2 d st
G F

c*+Hy  Hc COST U COST E

G =McCoStT U tHH  pccost g

HJC COST M COST He + pUH E
He=Vme, py=lm, T HCHangle

CH -30

SFG
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EKl +SF+tF sF - tF sF - t°F B
F :E SF-tF  K,+SF+t’F SF-tF E
g sF-tF sF - t°F K, +F +t°F§

S = rey(1-cosT)/ Gy, t = e SINUOwy, G’ = 2re(1-cost), F =-0.1F
K:  C-H stretching force constant (= 4.6 md/A), F  H--Hrepulson constant ( < 0.3md/A)

E He +Hy, Y2}, cost 0 E
Gs = B\/EUC COSt  Hc * Hy + M COST 0 E
5 O 0 M + My —He cosTg
oK, + SF U J2(sF - t°F) o L
s = %\E(SZF ~tF) K, + 25°F o L
50 0 K, +2t%FF

GsFo)iz = (Ue + 1)K, + S°F + t°F') + 2uc cost (SF —t°F')
GsFs)21 =2 [ (e + 1y ((SF —t°F") + | cost (K, + 25°F)]
GsFs)r2 =2 [ (e +Hy )(SF —t°F") + | cost (K, + 25°F)]
GsFs)22 = (e + 1y ) (K, + 25°F) + e cost (K, + 4S°F —2t°F")
GsFs)sz =[(Mc + Hn) —Hc cosT](K; + 2°F')

GF.
M2 = (U2{[(GFIr1 + (GF),,] + D}
D’=[(GFdi1- (GFal” + HGFIy(GF)s s

K;= K,+ AK
D*= 9[(Mc+ M)(SF - £F) + pecost(Ky+ 25°F))°
2 (e + W)(SF - F) + pecost(Ko+ 28F)][(Me+ M) - 4HcCoSTIAK
+ (Uc+ M) AK?
= {3[(Uc + MW)(STF - t°F") + poost(K,+ 25°F)] - (U3) e+ M) - 4ucCos] AK } 2
+ B/9)[(Mc+ )+ (Mc+ Hiy) HOOST - 2(uccosT)JAK

D = 3[(Uc+ M)SF - t°F") + pccost(K,+ 25°F)]% - (U3)] (M + Ky - 4HcCoSTIAK
+ (427 (Ut K/ MccosT](AK/K,)(Het Hp)AK

CH -31



M(CH) = (Ue+ Hy+ 2pe00sT)[ Ko+ (U3)AK + 3SF - t°F]
+ (227)[ (Ut M)/ HccosT] (AK/K) (Mt Hu)AK
A(CH, ) = (M + Hy - HCOST)[ K+ (23)AK + 26°F']
- (227)[(pc + Hr)pcoosT](AK/K) (Mt Hp)AK
A(CHa,2) = (Mc+ My - HeCOST[ K+ 26°F]

~ (U3)(AK/K )V geg ~ (U6)(AK/K)Vgm
Ty cost=-1/3 s=+2/3 t=41/3

M(CH) = (Hy+ (V3K + (1/3)AK + 2F] - (29[ (Mt Ml (AK/K)(Het Hy)AK

A(CHy, 9 = (43K, + (3)AK] + (29[ (Me + M) Ml (AK/K)(He+ Hp)AK
As(CH,,0) = (My + (3)HK,

L
Q S L
S=LQ
GFL=LA, LL'=G t
GFL =LA E =GF
(S Ez)/z_\/(El _Ez)z 14+ E12E21
L, = E 22
21
-(& - Ez)/2+\/(E1 _E2)2/4+ E12E21
21 = 1
=
LL'=G
L'+ Lp'= G, Ly*+ Ly =G, Lyuly+ Lyly,=Gy,
2
2 2 [E - Ez)/z_'J(El _E2)2/4+ E12E21]2 Ex
e (S = 2
2, - E)y(E, —E)? 4+ ELE,,
_G + G,
= 2
ey UEE)2-JE E) 4T
22 — ~\Feba
2, -E)y(E ~E)’ 14+ EE,
K= K,>>F

L= '\/E Ly Ly= '\/z Ly |_112:—_ |_222:—_ 13
Lu= ]-/\/é L= '1/'\/5

Q.= (LV3)[Ar; + Ar,+ Arg] = Qym

CH -32



Q2= (1\/6)[2Ar1 - ArZ - Ars] = Qdeg,a

CH

-33

SFG



